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ata type name [size];

Ex:
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int arr[31={1,2,0};
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int k[51={1,0,3,4,5):
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int matrix[4],i;
for(i=0;i<4;i++)

scanf(“%d”,&matrix]i]);
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For(i=0;i<8;i++)
Printf(“%d”,matrix[i]);
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Ex_1:Write a C program to print & enter 1_D matrix
contain 7 elements



R Turbo C++ - [chtcwindS\bintnoname0Ocpr] .

File Edit Search  “iew Project Debu Tool  Options Window  Hel
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PR Y RArARANZ

#include<stdio.h>

#include<conio.h>

main()

{

int =[7],1ir

printf ("Enter element of matrix'n"):
for (i=0;i<7T;i++)

zcanf ("Fd", &x[1]) !

for (i=0;1i<T;i4++)

printf ("Ed\c",x[1]):

getchi(): P '
} 5 (Inactive CATCWINASBINYNONAMEQD.EXE) | = = £Z |
Enter element of matrix ﬂ
1
3
i
B
17
a
o
1 3 ] 8 17 a 5

o | v| 4

tﬁa}é:m).u; 50 ) g )AM\ C\.Luu\ UJJ‘ )&j*
(M)oe Y2 (\n)
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Ex_2:write a C program to enter any 1_D matrix
num([20] then find the sum of even location..

Solution:

& sana gl 5 2ac 20 (5 5a3 axdl Lola) 4d ghiae JLAaY el UK sl
Jie o2 @iz S 4usnile gany o583 (5) 4 shadll (0 dum s 1 2l 5al
(20.... 8564 5250

$include<conio.h> El (Inactive CATC.. IEIM

main() Enter element of matrixz =«
{ ; 5
int num[20],i: 20

inkt s5=0; 38

printf ({"Enter element of matrix‘n"};:
for{i=0;i<20:i++)

{

scanft{"3%d", &num[i] } ;

1f (i%2==0)

s=s+numi] ;

¥

printf {"sum=%d", =} ;

getech();

¥

I ooooocooooo o ooom @@

um=34




Q_1:wreite a C program to enter 1_D matrix score[7]of
integer numbers then find the following dependent your
select entery:

1:sum of odd numbers
2:sum of all matrix
3:average of matrix

4:stop of program

Solution:

Glal e alaie V4 b ledlagly sealic 7 (e 48 stian JA0) G slhall
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Switch_case
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l'u' TEs

Project: Debug

Taol Options  Window Help

tinclude<stdio.h>

tinclude<conio.h>

main )

{

/*Prepared by:Hamza mohammed#*/

int score[7],i,=s total=0,s odd=0,select;
float average;

printf {"Enter element of matrix “n"}):
for{i=0;i<7;i++)

scanft {("%d", &score[i] }:;

printf {"Enter your selecthn™):

scanft ("%d", &select) ;

swltch (select) {

case 1:

for{i=0;i<7;i+4+)

{if {score[i] %32!=0)

s odd=s odd+scoref[i];:

printf ("sum of odd num=—%d4d",s odd};}
break;

case 2:

for{i=0;i<7;i++)

{s_total=s total+scorefi]:}
princf("sum of all matrix=3d",s total):
break;

case 3:

for (i=0;i<T71i+4)

{s_total=s total+score(i]:
average=tfloat}s_tntalf(T};}
printf{"average=3%L",average} ;

break;
Case 4:
break;

¥
getch(};
¥

5] catowiNgs.. o | B e

188

188

188

1088

104

188

o7

Enter your select

2

sum of all matrix=697_

Enter element of matrix ﬂ

4
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Q_2:write a prog. To initialize the array a(9) with (3,4,0,-1,5,-6,8,10,-4)

Then:

e Print the even number

e Print the location of negative number

e Sum of positive number

Vi
Edit  Search  Wiew F'rnject Debug Taol

urbo

B Fie

Options

Window  Help

#include<stdio.h>

#include<conio.h>

main()

{ /*prepared by: Hamza Mohammed#*/

int a[]={3,4,0,-1,5,-6,8,10,-4},1,=s=0;
printf ("The even number in matrix:\n"):
for (1=0;1i<9:1++)

{

if(a[i]%2==0)

printf("3d ",a[i]):

H

printf("\nThe location of negative number is:\n"):
for (i=0;i<9;i++)

{

if(a[i]<0)

printf ("\n%d",i);

H

for (i=0;i<9;i++)

{

if(a[i]>0)

2+=a[i]:

H

printf ("\nThe sum of positive number=%d",s);
getchi);

H

]

¥l || [EJEH

B CATCWINAS\BIN\NONAMEDQ.EXE | o | B & |

The even number in matrix: -
4L 8 -6 8 10 -4
The location of negative number is:

= 20 LU 2

he sum of positive number=38

KN

L
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Q_3:Write a C program to enter any matrix size (n) then perform

the following:

e Print the first element
¢ Replace the first element by second

Solution:

Turbo C++ - [d'\nona

[B File Edit Search View Project Debug Tool Options Window Help

$include<stdio.h>
$include<conio.h>

main () 5] DANONAMEOOEXE | = B 2 |
{/*prepared by:Hamza Mohammed#*/ . :

int m[100],n, 1,k Enter length of matrix{n}: ﬂ
printf ("Enter length of matrix(m):\n"); Enter matrix:

gcanf (":d4d", &n) ; 1

printf ("Enter matrix:\n"); o

for (1=0:;i<n;i++) 9

scanf ("2d", em[1i]);
printf("\nthe first element=%d\n",m[0]): the First element=1
printf ("The matrix before exchange:\n"); The matrix before exchange:

for (i=0;i<m;i++) 123

printf({"3sd ", m[i]); The matrix after exchange:
printf ("\nThe matrix after exchange:‘n") 213

k=m[0]: ~
m[0]=m[1]; ﬂ_| [ /)
m[l]=k;

for (i=0;i<n;i++)
printf("3d ", m[i]):
getchi);

¥
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NOTE:

For(i=0;i<n;i++)




Q_4:Write a C prog. To enter array B(6) & array Z(6)
replace the element of array B with element of Z

Solution:

P Turbo C+= - [df
——_

#include<conio.h>

maini)

{/*prepared by:Hamza Mohammed=*/

int 1i,B[7]),Z[7]),2ave[7]:

printf {"Enter array B:\n"):
for{i=0;i<7;i++)

scanft ("%d", &B[1]}:

printf{"Encter array Z:\n"}:
for(i=0:;i<7i+4)

scanf ("3d", 8Z[1i])};

printf("array B before exchange:\n"):
for{i=0;i<7i++)

printf{"id ",B[i]}:

printf ({"\narray Z before exchange:'n"}:;
for{i=0;i<7;:i++)

printf{"3d ", Z[1]1});

for{i=0;i<7;i++)

i

zave[1]=B[1i]:

BLil=Z[i]:

Z[i]=savel[i]:

H

printf{™\narray B After exchange:\n"}:
for(i=0;i<7;i+4)

printf{"3d. ", B[i]):

printf{™\narray Z After exchange:\n"};
for{i=0;i<7 i++)

printf{"3d ", Z[1]):

getch ()

H

Enter
1

nter

1
1
1
1
1
|
E
1
2
3
L
5
6
7
a

Fray
2 [ e |
array
12 3
array
123
array
111

|

array B:

array 2:

before exchange:
T [ |
before exchange:
567
After exchange:
5 6 ¥
After exchange:
111

E
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Q_5: By using C_language enter any array then find minimum & maximum value

in array?

Solution:

TSR,

Edit

Search  Wiews Project

Cebug Tool Options

Window Help

$include<stdio.h>
$include<conio.h>
maini()

{

int length,i, max, min,arr[100];
printf ("Enter length of array:'n"):

scanf ("%d", slength) ;

printf ("Enter array:in");

for (i=0;i<length;i++)
scanf ("Fd4d", sarr[i]):;
min=arr[0];
max=arr[0];

for (i=0;i<length;i++)
1f jarr[i] >max)
max=arr[i];

for (i=0;i<length;i++)

{

if (arr[i]l<min)
min=arr[i]:;

}

printf ("max=3d\n",max) ;
printf ("min=3%d\n",min) ;
getchi);

}

i
% D:ANONAMEOLEXE

= @ % |

Enter length of array:
G

Enter array:

18

20

55

1

73

max=73

min=1

2l

L
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Q_6: use c_language to enter to array same length the perform the
following dependent your entry:

a_sum element of array one with element of array two display the
result as a vector;

b_multiplied array one by 2;
c_divided array two by(2)

Other wise disply comment “Check your enter”;

Solution:



TSI A o

[ Fil: Edit Search View Project Debug Tool Options Window Help

#include<conioc.h>

maini()

{

int a[l100],b[100],sum[l100]),i,n;char select;float divided[100]:;
printf ("Enter select:n");

scanf ("Ec", &zelect) ;

printf ("Enter length of arrays(n):'n");

scanf ("Fd4d", &n) ;

printf ("Enter array a:'\n"); rﬂ DANONAMEOLEXE | = | B X _|\
for (i=0;i<n;i++)

scanf ("%d", za[i]); Enter select: ﬂ
printf ("Enter array b:'n"); c .

For (i=0;i<n;i++) gnter length of arrays{n}:

n n 5 u
scanf ("3d", &b[1]): Enter array a:

swltch (select) { 1

case 'a': 9

for (i=0;i<n;i++) 9

sum[i]=a[i]+k[1i]; Enter array b:

for (i=0;i<n;i++) N

printcf ("%d",sum[i] ) C

break: 23

case "k': Z2.808808 2.5008000 1.5008000

for (1=0;i<n;i++)
alil=2*(ali]):

for (1=0;i<n;i++)
printf("3dh\t",ai]);
break;

case "c':

for (1=0;i<n;i++)
divided[i]=(float)b[i]/2;
for (1=0;i<n;i++)

printf ("sfh\t",divided[i]);
break;

default:

printf ("\nCheck vour select:"):
Yigetchi();}

o | v 4



...... @%\a&\ &‘3&& Qg \,&%\&\ z}p“m

Adae el yal (yim il 48 i 4dgioan o (e sk Alal ada i 13Sa 5 40l 48 gioad) (g V)

cer (38 gaal) Mlay) iy ) oS5 () Juady g aenl)

el Nl Lds )

+
Rl

B[1
Al2] H i
; B[2]

Al3]
B[3]

©

ae) A 4 4 ghanll pualic o asladd) (1a (2) o 4 48 shad) dend ) Clladli*
£ 55 (o O paall (pudly 42 8 4 ghiaa (o (e YL a5l () gl 49358 (S5 () (Saay dapaaa
s sk ) angy ouSl) el iy Y S ((a58) 4 5 5uS)

CAST OPERATOR
?@‘;AJSL&AQQA\JL)‘7b)mla.al‘cab)ug‘dm‘eﬁgy‘.§3)ﬁ|dﬁ
CAST OPERATOR

oo gl gAY bl



Q_7:Enter any array then sort ascending order :

SOLUTION:

#include<stdio.h>
#include<conio.h>

main()

{

¥ot wf58l. 1. t.3 n:

printf ("Enter length:'\n"):
gcanft (34", &n)

printf ("Enter matcrix:\n"):
for (i=0;i<n;i++)

gscanft ("3d", &x[i]) !

for (i=0;i<n;i++)

{

for{j=i+l:j<n;j++)
1E(=[i]1>=[31)

{t=x[i]:

2[i]==x=[]1:

#[jl=c:}

¥

| DANONAMEOQL.EXE

Enter length: ﬂ
5

Enter matriz:

=T m -k E

atrix after sort:
1 2 3 L

|

printf("macrix after sorc:\n"}:

for{i=0:i<n;i++)
printf{"d\c",x[1])

getch(}):
¥
Cund (Y SiaaSa peiiiuf**

©



Q_8:write c_prog . to enter any array then set the odd location to zero

Solution:

B v ¢+ o

[ File Edit Search ‘iew Project Debug Tool Options Window Help

finclude<stdio.h>
$include<conio.h>

main() %1 (nactive DANONAMEOLEXE) | = B 352 |
i Enter length: -
int a[l00],n,di: L

printf ("Enter length:hwn"): Enter array:

scanf ("F4", &n) ;
printf ("Enter array:\n"):
for (i=0;i<mn;i++)
scanf ("F4d",&a[i])
for (i=0;i<mn;i++)

{

1 (i%21=0)

a[i]=0;

}

for (i=0;i<mn;i++)
printf("sdh\t",a[i]);
getch()

}

}f: T I gy
-
B
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Q_1:Enter any array then perform find the following if you press numbers
below:

1_find mimimum value and location
2_find maximum and location
3_sort descending order

Else where display any comment

kkhkkkhkkkkhkhkkkkhkkhkkkkhkhkhkkkhkhkhhkkkhkhkhkkkhkkhkhhkhkkhkhkhkhkkhkkhkhkhkkkhkkhkhkhkkkhkkhkhkhkkhkkkhkkkhkkkkkhkkkkkkkx

Q_2:by use c_language initialize these array

m_k(9)=(1,2,10,21,11,2,3,5,-1) then sort reversly by use two method

kkhkkhkkkkhkkkkhkkhkhkhkkkkhkhkkkhkkhkhkhkkkhkhkhkkkhkkhkkhkhkkkhkhkhhkkhkkhkhkhkkkhkhkhkkkhkhkhkkkhkkhkkhkkkhkkhkkkkkkkkkhkkkkkkkkxkx

Q_3:write c_prog. To enter any float array then round into plus infinity and
compare the result before and after round

khkkkkhkkkhkkhkkhkkhkkhkkkkhkhkkkhhkkhkkhkhkhkhkkhkhkhkkhkhkhkhkhkkhkhkhkkhkhkhkhkkhkkhkhkhkkkhkkkhkkhkhkhkkkhkkhkkhkkkhkkkkkkkk*x

Q_4:write c_prog. To enter any array then squre the odd location

khkkkkhkkkhkkhkhkhkkhkkkkkkhkkhkkhhkkhkkhkhkhkhkhkhkhkhkkhhkhkkhkkhkkhhkhkkhkhkhkhkkhkkhkkhkkhkkhhkkhkkkhkhkhkkhkkkkkkkhkkkkkkkk*x



Q_5:Q_for the network shown below find the values of Rx when
the source is variable from 3.3V into 9V the step of p.s s
0.3v.Write a C_prog. to find Rx ,round the values of Rx into
greater than and compare between the result after &befor the
round,total current=100 Amp

[
(/ RX
57’;.Z R3§1 Qv
o —_—
R; =
w5 )
——==*

Q_6:By sing arrays write a program to find truth table of nand gate (3input)

Look to picture below:
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